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2.1.1. ﬁ'}i'h‘ . odes s (linear rule) 4p 8 4e % Foif & Sidic f(0), g(x) ¥ S0k
0,80 #Ed s #80F gAThSdi rf(x)+sgx) (HBF rf+sg) BT eh
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00 & BE N AFSe o AR A B o 4 (sum rule) 223k 7% i (constant
multiple rule) & B F M o F LA PRP E M) = £+ g(x) B K (x) = f/(x) + g (x)

% & h(x) = xo F%kA & lim Lh(x()) e
1—Xx0 [—xO

h(®) — hxo) _ (f() + 8(1)) = (f(x0) + g(x0)) _ f(1) = f(x0)  8(1) — 8(x0)

t—Xxo t—Xxo t—Xxo t—Xxo
ETILE o xo FIF AR EE T EHRIVE S f(x0) +8'(x0) > 7F I W (x0) = f7(x0) + &' (x0) °
d et f(x),g(x) ¥ F gk xo ’F"‘* o B NX) = ()+g ) T (f+g) =
fr+g e
ke ik > F 4 h(x) =rf(x) > d 2
h(®) = h(xo) _ rf(®) —rf(xo0) _ rf(t) _f(xO).
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Ftoxg A HEBEIT E W (x0) = rf'(x0) © Fl (rf) =rf o
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(rf+sg) = (rf) +(sg) =rf +s¢.
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2.1.2. £ Z T zﬂft/w\ %k;‘é t 5 (product rule) 45 & ek i & Sl f(x), g(x) o1
Fode f(0.8/(0) FAPY RATOIE f(0)-gx) (FH= f-g) BV sk
' (0gx) + f(x0)g'(x) (?e??%d“ Jg+f-g)e
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t— X t—x
J@ — f(xo) fr (1) — g(xo) & 3 » A i 4 ‘91#” m =+ fDg(n) - f(xO)g(XO) E

F(0g(®) = f(x0)g(®) + f(x0)g(t) = f(x0)8(x0) = (f(1) — f(x0))g(t) + f(x0)(8(1) — 8(x0))-

E o xo BE A
h(r) — h(xo) _ f() = f(x0)
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g(t) g(Xo)

8(®) + f(xo)

f-9=f-g+f-¢.
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BH- B T4 ] HRABEBRENW) Rln-10 APF 7Y =@m- D2 Fp o i
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F P SR BERE ax =nx""1 BB 3L HA e power rule o
F1# S22 2 power rule > $3% % IF 58 Sl f(x) = cux + cp X Foix o AP

3T @3] f(x) e

(cnd" + cna X V4t eix o) = nea XN (= Dep X4+ 0

) e

d 1
—(2x5 30 + = +4x+ 3) =10x* - 9x% + x + 4.
dx 2
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2.1.3. 'f/i% e “T % 18 (quotient rule) dp e % driE 8 Sl f(x), g(x) S S
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Fula § fo =124 & f/(x)=0> Flp A5 F S8 #ct § (reciprocal rule)
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X
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2.1.4. R, A @425 (chain rule) dp e ek i A S i f(x), g(x) i S0 #ic
f(x),8 () 2 Y g & ik f(g(x) (BB fog) MvhEads f(g(x) g0 (H
B (ffog)-g)e
BAL )= flgx) » i
h®) = h(xo) _ f(8(0) — f(g(xo)) _ f(g(®) — f(g(x0)) ~8(1) — g(x0)
f—Xo t—Xxp g(t) - 8(xo) r—xo

dode g(x) foxo VLD f(x) B glxo) ¥ Ak gx) oxo BHF > F 1o xo oAk
g B xo T LK B B g() - gCr0) i (gg(g TE) it st - 7
U ﬁ‘“%i{ PR A P RT E W (x) = f1(g(x0)) - &'(x0) ° @ F g(x) B xo MHiT
¥ B P h(x) = f(g(x) B oxo T AW B0 Fet W (x) = g'(x0) =0 + ﬁ‘-‘ﬁiﬁlﬁ“ P
h'(X0)=f'(g(XO)) g'(xo) TR 2 o FIZEAT RRFREE f0) & glxo) ¥ M2 g(x) & xo
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4 d 9 —9 A5 A
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Aol o S A EHA T L E TR RS S (N 0) (Y () =10
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fre @ ety iy = 1 e E e
LS 1 11 1 1 1 1
(xn)" = 1 =——>= —(x) = _(x(n 1))'
n(xn)yr=1 x5 n
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Y = ()™ = m(xen Y™ (.
Flotd N3 (2.1) 0 A s T RS Y i ik

m 1 m
(7Y =y — () = 2
n n
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1
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' Va2 +x+1 F

(®+x+ 1713 £ 4% chain rule = power rule F & & & #c o

Excecise 2.1. s+ ¥ 42 3.1.11, 3.1.26, 3.2.3 -

e s uE A (22 + D2 e

Excecise 2.2. :#4]% ek T & £ T Sficte x = 1 S0A & ¢ f(x) = 5x-9x2, g(x) = x+ VX,
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1
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B S B (2,7) PE AN § 8 e g sA s o (B sk AL 3.3.68)

Excecise 2.4. * product ~ quotient §= chain rules Jzk* ¥ 4% 3.4.19, 3.5.20, 3.5.34 «h¥

\ﬁ'rgt °

Excecise 2.5. ik 3 42 3.5 (45, 46, 47, 48) -
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